
9 
witt twUA On o wultiple uoceexamminatton PossiLl awsweu toou eac of the five queshiow 

wuat i ta probabilitu, tuata camdidate would 
qe tow on moACoUrec amwes,ust k 
qecs Ma 

Awo, T zopeated quassing ot co TUect amswes
tnoTm Yutipa cluute quostiowo au 

Benoli taialy . LeF X eþJU-sed Hnuwben 
otcovtec aw>wen by quessina ut set ot 5 wutipl choico. quastiows. 

PLobabtlet oF gettig a LoUe t am swer 

Cle , 
x has a binomial dtsthibion uit 

n 5and p = 

PCX=1) = C -

PCauesing4 mo tthan t coUtet anawer) 
= P(X>4) = PX=4)T Px =5) 

, 

= 3 T t 43243t2325 


